""" = || t_ Epgf 1 HLHEN & ?:I-
= th e iT
- || TEF'EFE i ) '
R EE N ﬁﬁ'ﬁ'rﬂrﬁu o= i b
e = 4
=¥=F :I/ 513&!.&@1\'; Hﬂ%ﬁ L=
/ EF'E 4 Kﬁﬂﬁ@ "—q:—_\_\_ o ﬁlll"
== i \':F' ﬁ]m]- J" i iﬁﬁ@-ﬁ-? E-F
4 R
T ;IE;E_ A A e 3
rl } L) Fl% | it th
a
Jl‘.
= 1
L [k L E 8
b e W F 1
#|Er L i
|

3 Ill ] S
1 -100=200"300= 400, 500m||

=
Ejl_mfs

n |
BERER ¥R

(C32005 IWCREWENT P CORP.

Doo D | TFDo4 | 00 [DDO0OO | 0o |opoooooooooooooo | 0D 35694170000 139.67639 000 0 35m
0oo 2004D12D13DDDD‘DDD |DIZIDMIIIIDDDB4[DDDDB4IIIDDDB4D ‘DIZI ‘ 00 ‘D‘ ‘DDD ‘
0000 |RCOODDSO000 100199100
000000 | CHI=N270E, CH2=NO0OE,CH3=UDO 0 0 0 000 0 O ooooo 20000 100 70
oooo oooco 0Oooso ooooLo 00DOOED 0 0
O | 11:05011:16 TFD004S_C TFD004S_S TFD004S_L TFD004S_E
. 0ooo SMR-A SMR-A SMR-A SMR-A
0 O |000000000=200Hz LPF=50Hz
0000 | 00000@m) oo X0 YO 000D0O0ED 0 0
0 TFD004G_O_R00 TFD004G_X R0O0 | TFD004G_Y R0O0 | TFD004G_E R00
o | nsen il 5 TFD004G_O R05 | TFD004G_X_R05 | TFD004G Y R05 | TFDO004G_E ROS
11:500 12:01 10 TFD004G_O R10 | TFD004G X _R10 | TFD004G Y R10 | TFD004G E R10
51 200 12221 15 TFD004G_O R15 | TFD004G X _R15 | TFD004G Y R15 | TFD004G_E RIS
0ooo SMR-C SMR-A SMR-B SMRC-A
0 O |000000000=200Hz LPF=50Hz000000X,YOO 0000 5010015m000000000 om00000000000000 000000

god




L

ugbooooogd




1000—

o TLAFE
\ —5
V A A —_— 10mm
= v\.\v \k/‘ — 15m
2
N
£ AN \) — HR40m
Eg 2\ \\ \\ NN
'm L \
& \”&\ T \.
ﬁ i N———
& VAW T
SN
Vs30 = 280 m/s AN ~
100 N
.
\\
.
N
|
0 PR ‘
] Ts=0.30s
o (RiBAMR)
' Ts=0.29s I
0.2 . EL©
_ (\EiBAm) N\ ——CH1
? o\ - —cH2
5 /.= \ —w
! “o )N BTRO HEIHHE
i h I\ 5 A\t / = \ E_Cm ——CH1
J? \ \!’L'\’ 2 P N — —CH2 — — CH2
° VA - ’ \\ —u —UD
X 0.01 "'"AI/"\ v S 7 AN V4 - ,n-'\\\\ .
1193 \ "/ WY A J. A\ Y2 A W
. e ST A AN TS /] N b
] Y o Ve /. 2. S\
- z Nl SRS N\
Ve BIVAYo v 4 7 \aw\ S NN\
j" XS
/ o
AP \:
1E-3 ]
0.1 1
B (s)

ARGRIL (galks)

|
Lm——
|\I'; |
. (o] HEEHRE)
il -
M \11 pn
. 3 / —~—= CH2 —— CH2
| e ’\,\J - ——UD ——UD
e /
001 ! ﬂ' L \I'\A\."\ﬂ A
| li VN AN 7 TN
) | / AMRVAS\Y 1Al
| N \ \.\
| WA/ \
! e \
{ | v
I \ NN
, A NS N 7—\.\§\__\_
4 T — N
i N
1E-3 ]
0.01 0.1 1 10
E# (s)
10 .’ -
[ |
! Iy
1} R T,70.25 s
1 Iy
3 N .
n —
5 I N 4\/\?‘(& /// :
by \ =i =
X N Sy P == T
> i) Y i "\ \ N\ - L=~
T 1—_ B : Ty X/
. S Vi A e AW}
7 i W /4
] iy L \ \Y
| X Mk \YA -
T4 Y (o=t H A HA(E)
—— CH1/UD —— CH1/UD
— — CH2/UD — — CH2/UD
—— ARH/UD —— &RkH/UD
0.1 T T T T T T T |
0.01 0.1 1 10

BE ()



